SuMPO EPD
1T NEEEE (EPD)
e = ¢ JR-AI-25052E

SuMPO

|.E PD

AAAAA

VERIFIED

BEH(
Smladiy

BEXSRERRE
b33
OERMHTE ORE

O fEef

QitE @fEM- - ORME

HEOB, TETKR-FET
UG BP-61C36
AR BFEEA (EP)
B RE /70 : 368%/4 (A4370)
n5- 368y9 (A4370)
=P N WE P SRA3

FUVNAC—/AFv D/ T7IR - 1Z#E S
T EENR/ADF(RTE B B50AH) © iZHEEE

FUWEhtEk
Jv-THA R AV-PEIRAVYI1-Y3VBHERKER
E-mail:ECOLEAF-BS@sharp.co.jp

SUMPORIEININTOIS s
—MALEEAY AT IR EHEE RS
REBTREXAHEHET-14-8
KANDA SQUARE GATE
https://ecoleaf-label.jp

SHARP

Yy —7HAEH

(Sharp Corporation)

FORNT AT —HEH

(DIGITAL FULL COLOR MULTIFUNCTIONAL SYSTEM)

BP-61C36 (JP)

BEHES JR-AI-25052E
EAPCREFS  PA-590000-Al-08
PCR#% B R A S #25 [558hi]
NGI=! 2025F10H9H
WIEETEE 2025278108
BREAR YATLRIEAR
RAES FV-08-25013
REEE#EARE  2030£7A9H

PCRLE1-DETE
REH%E 20235 98 1H
ZER B &2

— A FEAY AT T IR EHEAE RS
B=FIRIEE
NEBIRIEE B #TF
ISO14025(C>T=ARE E RUT I DI LIAREE

O AER [ DS
*YAF LR EB - EEANORIDE AL, VAT LRI T FBEE0
ZEERLH,

Zi&ES © JR-AI-25052E



SuMPO EPD SUMPORRIESAIN SOOI s

SEUME)D . —MAEEAY AT IR S HEEEE
4 WEPRPD SATIREES (EPD) e e
VERIFIED KANDA SQUARE GATE

Z85E S . JR-AI-25052E https://ecoleaf-label.jp

OF17Y1 7V REEFHHER

0% 20% 40% 60% 80% 100%
SURZE) IPCC 2013 GWP 100a 810 | kg-COzeq
[7ge(d 0.89 | kg-SO2eq
ERHE 0.14 | kg-Sbeq
EOFEMHAZE nQeE wQfE mOFERA-#E nORK
2F JHE|  HfI At | OR#MEFEE QRE Qi@ |@fEMA-#E O
IEZED kg-COzeq | 8.1E+02 | 4.9E+02 2.4E+01 1.1E+01 1.9E+02 9.4E+01
74k 24 kg-SOzeq | 8.9E-01 4.7E-01 1.5E-01 2.2E-02 1.9E-01 6.0E-02
HRHE kg-Sbeq 1.4E-01 1.3E-01 9.3E-05 4.4E-05 1.0E-02 1.3E-04
JBER B mh-9E (ERHS) Bify
FFBERREER 7.6E+01 kg EiEi 3.3E+01 kg
BAEAEER 1.3E+02 kg Sus 8.7E-01 kg
TIIZUL 5.1€-01 kg
Z0HEE 9.7E-01 kg
T52FvY 3.5E+01 kg
i 1.1E-01 kg
A5 2.1E+00 kg
A 1.3E+01 kg
FE R EEMR 2.0E+00 kg
Z0M 6.5E+00 kg

OEERRECEIT ZEMIER

BEofRET . BHAR
-(EFEHM%E 5 £/, ENRIFEAREE 192,000 LT REEMEEHLTWET,
32 (¥37/H) x20 (By¥3ad) =4 x5 (B/B) x 4 GB/A) x12 (A/F) x5 (%) =192,0001%
-EIRIROREBEWREESENTWEEA,
CBRETEICAVRYTUAICBVTRELEES - EE5% EPAR)
CERIRINF-RI-TOTILVer3 0[CRRVEELTWET,
REICRIESNTVS M -A- MY I OB R E@OFER - #EFERE Tt ELTOET,

©-1.Z0fthDIRIFRIEIFER

AB RO EEE FEIRRBTHHIRRAIR, FF-DEE(L 1SO14001 ARG TIHICTITHONTVET,

DFERALEZRT-IDEZS
FRE{I(L, IDEA v3.1.0 RU SUMPOREINLTOITLBHT-Iv1.15 EEALTVET,

®fE

@7 -YHEHENAHKE. PCRELVETE - EEMRBELSRBL WL,
OLLRIIDVTE, EE - EEREICHREINLEZHFER/LEEEICLIRDONE A
(BHE%URL : https://ecoleaf-label jp/regulation/)
EixEFS © JR-AI-25052E



